H £ 0l & AF & S

Al A

aze|
JHRE ot2EE = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2t 23,844,228 23,966,340 A122,112
Al 49,288
- 23,794,940
E=EASE el 17,050,866 16,585,271 465,5%
Al 29,688
- 17,021,178
iR2&t 283Xl 14,690,285 14,072,048 618,237
Al 29,688
T 14,660,597
M HIl=H &Y 13,076,197 13,064,197 12,000
207 TN 29,500 17,500 12,000
NEEEETT 29,500 17,500 2,000
Q20248 MBMD| 27 - 20 DIZPEtAA
2 2 8 12,000,000 #25] 24,000
OMEMAD| 43 - 2UAN B} 2
5,500,000& 5,500
307 212+01& 12,436,697 12,436,697
05 2ItRIE = 12,436,697 12,436,697
OMEMYI| 27 - 28 QI EtarR
12,436,697,000& 12,436,697
308 AHXIEMSOIE 610,000 610,000
1 SIS0t EAS A 528,000 528,000
OXg| g8 528,000
-JEE 16,000& %2,500=+ 122 480,000
- 538 16,0003 x250&E+12& 48,000
2IIERg=s 82,000 82,000 0
OHJISXM2RE= 82,000,000 82,000
JWRet HelgtsSo| 468,647 214,090 254,557
201 er2 3| 229,712 183,090 46,622
01 AtR2telHl 226,000 180,800 45,200
OEAXIE 2T DA
8,000% x250 2,000
ORHEIl S HIIZ Ml ===
250,000 x44E+ 128 132,000
OHEA fIEXeIES el =&
200,000 *30=+12& 72,000
OdEMg| HiE S22 MH
3002 +50,0000HK 15,000
OH 2SS =HE M=
250, 0003 »20CH 5,000
02 S5=2g4l 3,712 2,290 1,422
OJ2sis 2+ 100,000 *5H 500
Oudl==29 R 5,000 +50H* 10 250
OUEZR 24 20,0002 #5CH 100




A =2t
Hu: mApe
Chel: JHRE t2EF A (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ostdac|d SAHANE Mg
50,0003 44 A+ 128 2,400
O 2eld SAAE H AEE
38,500 * 1 A+ 128 462
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
OMRet Ji2gd &4 1,000,000 1,000
307 lztol & 30,000 30,000
05 2ItRIE = 30,000 30,000
ootz Hel 2,500,000& ~12& 30,000
405 KHaHF S| 207,935 0 207,935
01 ML ESFSHI 207,935 0 207,935
OUgdeE Faxte 207,935
- HEZENE 168,065,000 *1CH 168,065
- SEAL 9,950,000& 9,950
- gEEA 4,400,000 4,400
- gE%A 12,760,000 »2CH 25,520
2 2R 45,692 0 45,692
201 etz 3| 800 0 800
02 S3=gHl 800 0 800
Ooxtg 28x 800,000& 800
405 KHakE SH 44,892 0 44,892
01 AL =S F=H 44,892 0 44,892
OssSHIIA 44,892,000 44,892
A Bz =8 345,317 105,992 239,325
201 Ler23| 112,975 105,992 6,983
01 At2teltl 1,680 900 780
O8AXE Rekz Sd= 1,680
- e sSA (M3 NHAHISAE)
5,200 202! x 128 1,248
- 2o, MRS A(RRH, HAEX 2
Bh) 4,500 =83 x 122 432
2 s5=34l 111,295 105,092 6,203
OO0IEXt =& & FFHI 8,623
- EOI01 Ml S ==cl 500,000 8CH 4,000
- =50 1,926 25| Ef+8LH* 123 4,623
OO0IENSAt 282 80,0002 «8CH 640
OFaxg = & RFH 95,008
- 34X =48l
230,000& *11CH+ 122 30,360
- 34X 7Fl
1,999 2452 | E1x110H 12 64,648
OsSiEE= 6,024




ERARIIPN i b=t 1
ma: A
Chel: JHRE t2EF A EER=E)
SA - B SRIBH) - MRAR - BAS ofl &t A HIDEZ
- SAESES(1E2.58)
400, 000& *120%+4CH 1,920
- HEst=(52014)
520,000 * 120%+6CH 3,744
- 58(5215) 360,000 1CH 360
OHAXZ ADE U &S 2|
250,000 43 1,000
405 KHaHF S| 232,342 0 232,342
01 ML ESFSHI 232,342 0 232,342
OdE-HEAT 232,342,000 232,342
B2 el 144,773 97,285 47,488
201 et 3| 137,773 86,285 51,488
01 A2l 137,773 86,285 51,488
OB FIYI(Y, =) 53,880
- o2t 60,0002 %22 3652 43,800
- £22 ot 60,0002 +12§x522! 3,120
- =g, ZEY F2
60,0002« 12 =116 6,960
Ostgaeld F483 7 28,665
- k= 2,500 918 »265= 5,915
- Mgt 8,000 x91H*2H 1,456
- L (EHER)
2,000« Q1 H =2 & *265= 9,464
- &8 OrA3 2,5002+918 »52%= 11,830
Ot ac|d FHAAMNERX SRML AIS=E
200,000 *12] 200
Ot 234 NES 78
30,0003 %91 2,730
Od2eld sHZ208 HOl0lE HIE
550,000 12 550
OLl=H| 46,410
- 285 70,0002 +91H 6,370
- gets 140,000 +91& 12,740
- 22(&3t 65,0002 +91 5,915
- et gt 55,0002 91 H 22 | 10,010
- HE D) 25,0002 x01&+3& 6,825
- HE2 X 20,0003 91 H*2H 3,640
- 20ord 10,0003 %91 910
Ostzac|d 25 FHdse=s XA
30,0002 x4 » 122 1,440
OS+=AdZH I 50,0002 *14H 700
OugESl 3,18
- S 13,0003 %15 195
- RddEde 8,500 x15& 128
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- HEz 120,000 +5& 600
- =& 25,0003 91 2,275
203 =2l 1,000 1,000
03 A=A PR FZ| 1,000 1,000
Oostgdzeld HEe & 2l
1,000,000& 1,000
401 Al HIZL S 0HYI 6,000 6,000
01 Al&H| 6,000 6,000
OstZdac|d FHAE =
1,500,000 #4042 6,000
ASSF M2l 413,773 447,354 A\33,581
206 M=l 33,868 447,354 A413,486
01 M=4l 33,868 447,354 A413,486
OSgMsE MH 13,888
-SE5383F 13,812
504 1122 +5,0000H* 123 6.720
-+ 100 ¢ 197:3+3,00001* 12 7,092
- Xz 13,812,0002 %0.55% 76
OPPOLHCH 19,980
- SSE0HH 19,980
-+ 100 ¢ 3703 45000112 19,980
309 HES 379,905 379,905
01 SAt- SHEYNES 379,905 379,905
OXIISHEHSE A
379,905,000 379,905
Ml RESI] 156,198 133,130 23,068
201 et 3| 118,704 115,480 3,224
01 At22t2l] 5,800 5,800 0
ORHEI B02 M 5,000
- 2oE)| Fn2(LY)
10,0003 *300& 3,000
- 2| FDL(0H)
20,0002 100 2,000
OReE)|Est 12| 800
- 225(x2)1, R9) 60,0003 x4 240
- 2R=(E=) 140,000 x4 560
02 S3=4gl 112,804 109,680 3,224
OZ APt & &JIR=
5,5003 10400 A+ 1200 2 6,864
ORHEI| &8 SHERS
35,0002 =4CH = 1204 1,680
OAZAIIM0E AHU SEHANEE
90,0003 20+ 1200 & 99,360
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=l JHRe Jt2Edx s (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFHSI &5 2 AHES dH 25 UH
S =cl 5,000
- X, ME2s S S2l(2H)
600,000 *5CH 3,000
- HERIAEE S =2l(H)
400,000 ~5CH 2,000
301 EtE NS 1,200 1,200
14 IIEt2 83 1,200 1,200
O] RHSI| MRS 1,200
LT BIERS]
20,0003 *32A4* 1201 2 720
- 3= £ 5,000&+8A =121 2 480
405 AHAHE S 36,294 16,450 19,844
01 TR =S F=H 36,294 16,450 19,844
OZ At w A 2,350,000& *7CH 16,450
OZAIBtoI2H(0lISA!) 4,961,000 =4CH 19,844
Mol LEFI] 0l 39,688 10,000 29,688
Al 29,688
- 10,000
405 AtatE = 39,688 10,000 29,688
Al 29,688
- 10,000
01 AL =S F=HI 39,688 10,000 29,688
OZAlIStoliet(0lSA!) 4,961,000 ~8CH 30,688
Al 29,688
T 10,000
HolE Zg & A2zt 2,360,581 2,513,223 152,642
MHeEs Jgd =29 124,781 168,843 N34,062
201 eer23y| 124,781 116,843 7,938
01 AtR2t2|HI 17,418 9,480 7,938
OHEd REAESE 51,7002+ 123 621
OdEd E=J| MAEBE
66, 1002 * 1204 3 +2CH 1,587
ONgH2IH(ARE S)
300,000& * 12043 3,600
OstZacd ot ae| 3,600
- HNES S 20,0002« 15« 122 3,600
ONgEs HEY 2224 ANMES 7 8,010
- &=0tA3 16,0002 54 H 810
- ¥=0tA3 2
5,000 *54H+ 1200 2 3,240
- 2A0A3 1,500 22000 * 1200 2 3,960
2 S22l 107,363 107,363 0
OMgEs d88 2= 36,163
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g Ha2c
el HolE 2 # AraEt (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
303 Za= 1,800 1,800
01 Za= 1,800 1,800
OMEES =& ZdlUl= AMd= 1,800
- xR 500,000& %172 500
- 400,000 1012 400
- ¥ 300,000 #37| 2 900
307 glztol & 24,600 24,600
SEEEEE 24,600 24,600
OHRel 7IsHzl
11,0002 x150=+ 122 19,800
oHgas 2t 200,000 «22|* 12& 4,800
Sl 288 X 2,143,820 2,199,020 55,200
201 et 3| 37,220 31,940 5,280
01 At2t2l] 37,220 31,940 5,280
OSAlSMI| ZEAIH =& 6,500
- 822 502 *120,0000H 6,000
- s 100,000 *5H 500
ORFIDIIEE H=ESIH THEESAE K2l
320,000 «8CH* 122 30,720
301 22N 3,000 3,000
14 JIEt2 8= 3,000 3,000
O3S SAaSAd| 20171 AU 3,000
- 22 OHE 600,000 *37H 2 1,800
- £ OHIE 400,000 *39H 2= 1,200
307 @120l & 1,835,400 1,835,400
05 git?(& = 1,835,400 1,835,400
ORIZIIIAISIAIE 2SR
161,000& 950+ 12& 1,835,400
308 XtXIEMSO0IE 268,200 328,680 260,480
11 SIS0 EAS A 268,200 328,680 60,480
O==g S8al2 HEXIAE AEE
18,0003 *200=+ 122 43,200
Odl= SAl= NESAE MER
75,0002 x250=+ 122 225,000
SHEA 23id R +=E2t 661,437 612,101 49,336
Al 19,600
- 641,837
S =220 A A AEHd 661,437 612,101 49,336
Al 19,600
- 641,837
Q- 22 HEXe 5,422 5,620 A198
201 fet= 3| 1,330 1,330 0
01 AtR2te|H] 1,330 1,330 0
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A =2t
B S 2siM U LT
2ol 339 +22H Y SEA AL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- SSeEA HIYdE 2=
6,000 *3H A+ 122 216
307 gl2to| & 88,870 74,362 14,508
05 212t =S 88,870 74,362 14,508
OBSIEA pIgERR
88,870,000 88,870
401 AIEHIZ R 0HYI 30,000 20,000 10,000
01 Al&HI 30,000 20,000 10,000
LS ZENTA A
30,000,000& 30,000
SSeEA A 17,130 13,200 3,930
201 et23| 17,130 13,200 3,930
01 At22te|Hl 17,130 13,200 3,930
OSSetad AFMAH ASHLHl S 17,130
- SAE 2FA
8, 000& #3404 A= x20H % 152] 8,160
- A0 23 5,000& 651+ 120HE 3,900
- 280 MEM(s=AI4)
8,000 307} 12912 2,880
PSRN
5,000& x73JH*62] 2,190
FHAAS Meial st A 25,000 35,000 10,000
Al 12,500
- 12,500
401 Al HIZL 01| 25,000 356,000 10,000
Al 12,500
- 12,500
01 Al&H| 25,000 35,000 10,000
OFHAAHE MHASHEA M
25,000,000 25,000
Al 12,500
- 12,500
HgetEa XA 7,100 5,700 1,400
Al 7,100
301 LEtE N = 7,100 5,700 1,400
Al 7,100
14 IIEt2 8= 7,100 5,700 1,400
Ozt et Ea XA
7,100,000& 7,100
Al 7,100
HH2IBHI(AHH=1) 6,131,925 6,768,968 AB37,043
QA2 HH(XHA=&t) 6,049,601 6,654,388 N\B04,787
QIS 2| (Xt =&tt) 6,049,601 6,654,388 A\B04,787
101 @1A4H| 5,252,970 5,225,279 27,691




SN KREE
M HAPAZH|(NHA=2)
CHel: QI 2| (XIRAz=2tt) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SR (RINAHA) 222+ 5,252,970 5,225,279 27,691
Ozl 5,245,570
-JlZ2s 3,460,690 x01&» 122 3,779,074
- =g 98,280
HES=Y (B
40,0003 *91H 00+ 122 30,312
rEg I8
60,0002 *91 2 +90%+ 122 58,968
- Scl=ddl 404,819
=R =] 140,000 x91& « 128 152,880
SE S| 2,768,550 91 251,939
- Ziaesg 688,850
- ERY 224
113, 1302 x522 91 535,332
2R 22(=M)
113, 1303 532 +6H 29,980
s5d 2fE
113, 1302 x 122 +91H 123,538
- oxt FERE
150,850 *202 *91H 274,547
OXtH tststii= X2 300,000 +8H 2,400
OEI&X A 2,000,000& 1 2,000
Sgz23 3,000,000& 1 3,000
303 Z&a= 119,671 118,624 1,047
02 d1ltat0i= 119,671 118,624 1,047
Ostgdacld ditddi=
1,315,0602 91 119,671
WM HsFEE=S 676,960 1,255,552 A578,592
M SRA(RIHY) 22N EE=RE=s S 676,960 141,296 535,664
Ostzze|d 28 676,960
- =03 5,252,970,000& *4. 5% 236,384
- 2pALLEE
5,252,970,000& *3.495% 183,592
- LlIIEE = 183,592,000 *12.27% 22,527
- 1ELER 5,252,970,0002*1.75% 91,927
- MEE=E 5,252,970,000& * 1% 52,530
- EAS S2HE 90,000,000 *1& 90,000
[2ZHI(HA =2 82,324 114,580 N32,256
J|23HI(KHE &) 82,324 114,580 N32,256
201 fer= 3| 24,040 24,040 0
01 At 2|l 23,040 23,040 0
ORAM2Y JIZ2+EH|
40,0002 x24H 122 11,520
ORA Jl=ge =& SAH|
8,0003 x24H+5A1x 12 11,520
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